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char af] = "rthyi 2" char b[] = "+ K %"; char ¢[100];
inti,];

for{i=0; a[i]1="\0"; ++i} c[i] = ai];

for(j=0; b[j]'="\0"; ++j) c[i+]] = b[]];

cfi+j] ="\07;

cout << ¢ << endl;

return 8;
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(A) import iostream (B)
(D) #include iostream

* 3

#7R %/R

M S

e

#include <iostream> (C) include <iostream>
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(3) S x AN 10 82 100 2 - FHHEAERIEFERY CHEREZE? (3%)

(A) 100 >x>10 (B) (100 > x) || (x>10)
(D} (100 > x) and (x > 10}

(4) THIEH © (3%)
3%¥4%6+47%5;
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(5) T for ERERFEAMESER? (3%)
(A) for(inti=0;i<10;i++)  (B)inti; for(;i<10;i++)
(C) for(inti=0; i++) (D) for(inti=0;i<10;)
(6) TF C++iEx\R gt %/ D8 Hello 7 (3%)
i=1;
while (1<=10)
cout << "Hello";

(A)10 (B) ERE (8 [D)O

(C) {100 > x) && {x > 10}

(7) EREREBEEEURHEE - TRAEARZT *%Fnﬁu"l:?%‘tﬁ%)%ﬁx%ﬁ
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1 if (A>10);

2 {

3 Bx=9A;

4 By =100 ;

5 }

6 elseif (A=0)

7 Bxx = 869935; .
8 Byy = Bxx ;

g else

10 Bx=0;
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(8) Please explain how “virtual destructor” works in C++. {7%)
(9) Please explain how “virtual inheritance” works in C++. (7%)

(10) Pilease use a recursive function to implement: (16%)
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(11) TEGIEE (1101011); B E+ERNE - E{EBM ? (5%)
(A)(BA)s  (B)(49)s (C)(7Bhs (D) (6B )is
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(A) T{EfE&IZE= (Job Control Language )

(B) ERHEHIZES ( Data Control Language )
C) ERIEFHEES (Data Definition Language )

(D) ERHE{ESES ( Data Manipulation Language )
(13) SFERPIEEETEET RN AR TIZER (10%)
(14) SFERIAR BB T EERER SN EZR (10%)
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